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Example

1. Express the following number in shorter form by expressing as product

of a number and a power of 10. 

(a)  


(b)  


(c)

Watch Video Solution

27, 000, 000

30, 000, 000, 000

0.000000043

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7okGV3F8LVi0


Very Short Answer Type Questions

2. Express the following number in the standard form : 

(a)  

(b)  

(c)  

(d) 

Watch Video Solution

7584300

493.8721

5.876

0.0000079

1. 

Watch Video Solution

= am/n(a ≠ 0)
am

an

2. 

Watch Video Solution

x2009 × = x
1

x2008

https://dl.doubtnut.com/l/_zMyYrPvf8aUk
https://dl.doubtnut.com/l/_tQMDdp4uSnDw
https://dl.doubtnut.com/l/_p2OwXViHRRlD
https://dl.doubtnut.com/l/_hmELPidrzUNn


3. If , then a is any real number.

Watch Video Solution

a0 = 1

4. If  , then .

Watch Video Solution

2x = 42 x = 4

5. If , then 

Watch Video Solution

= 321

3x
x = 2

6. .

Watch Video Solution

( − 1)2008 = − 1

7. If , then .xy = x2 y = 6. (x ≠ 0, x ≠ 1)

https://dl.doubtnut.com/l/_hmELPidrzUNn
https://dl.doubtnut.com/l/_mtrbd9Hj6crG
https://dl.doubtnut.com/l/_heswf2drLwgp
https://dl.doubtnut.com/l/_7G8x9UndEShb
https://dl.doubtnut.com/l/_TBXMXspFpH8Y


Watch Video Solution

8. If  then x=2`.

Watch Video Solution

5x = 7x

9. 

Watch Video Solution

(60 − 70) = 0

10. The value of  when .

View Text Solution

3(x2 − 3x + 2) x = 2is0

11. Power notation of  is ______.

Watch Video Solution

−1331

https://dl.doubtnut.com/l/_TBXMXspFpH8Y
https://dl.doubtnut.com/l/_YE74Px1j2iCz
https://dl.doubtnut.com/l/_6ik5fX1WRXFb
https://dl.doubtnut.com/l/_mSLI9l4Rcead
https://dl.doubtnut.com/l/_Hr1UYHozT9Vz
https://dl.doubtnut.com/l/_iC8b6UoHQWHA


12. ______

Watch Video Solution

=
1

x− 4

13. _______.

Watch Video Solution

( )
− 2

=
2

3

14. If , then ____.

Watch Video Solution

x × 2− 5 = 25 x =

15. _____.

Watch Video Solution

( )
3

( ) =
3

5

25

27

16.  ____ (in power notation)1350 =

https://dl.doubtnut.com/l/_iC8b6UoHQWHA
https://dl.doubtnut.com/l/_GHQ2xrv09lP9
https://dl.doubtnut.com/l/_kvGuR7ofyqJt
https://dl.doubtnut.com/l/_yb0HC9LpOWuI
https://dl.doubtnut.com/l/_679ZeNwM7JgI


Watch Video Solution

17. _____ (in power notation)

Watch Video Solution

=
625

1296

18. If  and  then  ______

Watch Video Solution

x = 2 y = 4 x + y =
y

x

x
y

19. Radius of the first orbit of hydrogen is . Its value by

using powers of 10 is _______

A. 

B. 

C. 

D. 

cm
0.529

100000000

0.529 × 10− 9cm

5.29 × 10− 9cm

0.0529 × 10− 9cm

5.29 × 10− 10cm

https://dl.doubtnut.com/l/_679ZeNwM7JgI
https://dl.doubtnut.com/l/_mRi9mopjqWtk
https://dl.doubtnut.com/l/_y0ZwSSlHNzja
https://dl.doubtnut.com/l/_w1KZ9lmGqVbk


Answer: B

Watch Video Solution

20. Velocity of light is . Its value by using powers

of 10 is ______

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

30, 000, 000, 000cm/sec

3 × 108cm/s

3 × 109cm/s

3 × 1010cm/s

3 × 1011cm/s

21. If , then find the value of a + b + c = 0
(xa)

3

x− 3bx− 3c

https://dl.doubtnut.com/l/_w1KZ9lmGqVbk
https://dl.doubtnut.com/l/_96o5LlEi9yLE
https://dl.doubtnut.com/l/_1Jt4aTN7wT4i


A. 0

B. 1

C. 

D. 3

Answer: B

Watch Video Solution

−1

22. If , then find the value of .

A. 36

B. 0

C. 1

D. 35

Answer: D

Watch Video Solution

a = 36 a36 ∘

− a036

https://dl.doubtnut.com/l/_1Jt4aTN7wT4i
https://dl.doubtnut.com/l/_SJUB3eNmLCCU


23. If , then find the value of 

A. 3

B. 0

C. 

D. 1

Answer: D

Watch Video Solution

abc = 0
[(xa)b]

2c

xabc

−1

24. Simplifty 

A. 8

B. 4

C. 

√144 + √256

32 − 2

−4

https://dl.doubtnut.com/l/_SJUB3eNmLCCU
https://dl.doubtnut.com/l/_2bUKd6uLvpGz
https://dl.doubtnut.com/l/_gV5wHWZ1VhRe


Short Answer Type Questions

D. 

Answer: B

Watch Video Solution

−8

25. ______

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(0.000729) =
1
3

0.030

√0.09

0.18

0.09

https://dl.doubtnut.com/l/_gV5wHWZ1VhRe
https://dl.doubtnut.com/l/_H0NeAhLizTLj
https://dl.doubtnut.com/l/_pHv7KJAekKds


1. Evaluate .

Watch Video Solution

(1 + 3 + 5 + 7 + 9 + 11 + 13 + 15)
5
6

2. Identify the greater number between  and .

Watch Video Solution

(22)
3

223

3. Simplify 

Watch Video Solution

(x2y2z)
3

(xy2z)2

4. If  then find .

Watch Video Solution

2x = 240 2x− 4

5. If . Then find x (where ).(3x4)
3

= 333

x > 0

https://dl.doubtnut.com/l/_pHv7KJAekKds
https://dl.doubtnut.com/l/_AGFB781anGW0
https://dl.doubtnut.com/l/_OcJl9JDBg20W
https://dl.doubtnut.com/l/_4cuB3XpUYRaE
https://dl.doubtnut.com/l/_JGKItNJbh88Y


Watch Video Solution

6. Simplify  where  and 

.

Watch Video Solution

(xa− b)
a+ b

. (xb− c)
b+ c

. (x ( c−a ) )
( c+a )

x ≠ 0

x ≠ 1

7. Solve for 

Watch Video Solution

x : (25)x+ 2 = (125)2 −x

8. Find the value of 

Watch Video Solution

324078

+ 832047

9. Simplify 

Watch Video Solution

[ ]
4

( )
3

( )
22

5

25

8

125

4

https://dl.doubtnut.com/l/_JGKItNJbh88Y
https://dl.doubtnut.com/l/_mwORqFzho7NE
https://dl.doubtnut.com/l/_eP4LHFb8YRaE
https://dl.doubtnut.com/l/_bZlRZG17si1M
https://dl.doubtnut.com/l/_6xtn0I8CL6jB


10. If , then find the value of 

Watch Video Solution

x = √81
x5 + x4

x3

11. Find the value of .

Watch Video Solution

( − 1)
0

+ ( − 1)
1

+ ( − 1)
2

+ ... + ( − 1)
100

12. Arrange  in the ascending order.

Watch Video Solution

6− 3, 5− 3, 4− 3, and 3− 3

13. A teacher wanted to distribute a tatal amount of  equally among

x number of students. If each student gets x rupees, then find x.

Watch Video Solution

₹1296

https://dl.doubtnut.com/l/_6xtn0I8CL6jB
https://dl.doubtnut.com/l/_hOsTxE2jhgN6
https://dl.doubtnut.com/l/_JJsJIYq7NIZA
https://dl.doubtnut.com/l/_ag2Ls5XoqLt5
https://dl.doubtnut.com/l/_9Z0QOkC0cWJX


14. What should be multiplied to  so that product is 6 ?

Watch Video Solution

3− 4

15. If , then find the value of 

Watch Video Solution

xyz = 0 [(kx)y]
z

− [(ky)z]
x

− [(kz)x]
y

16. If , then find the value of .

Watch Video Solution

92x− 7 = (27)x− 4 3x

17. Vicky scored x marks in Maths and Rakesh scored  marks in Maths.

The proudct of their marks was 256. Find their marks.

Watch Video Solution

x3

https://dl.doubtnut.com/l/_bfy3HOpQpoXZ
https://dl.doubtnut.com/l/_lowTPPeKbPtR
https://dl.doubtnut.com/l/_T7gJ0tjLyM0e
https://dl.doubtnut.com/l/_Ri0F4XLtgyN1


Essay Type Quesitons

18. Simplify 

Watch Video Solution

(3x− 2y− 3z2 × 5x2 × y × z3) ÷ x3y2z − 1

19. If  ,then find the value of y.

Watch Video Solution

= 49
1

(343)3y+ 2

20. Simplify 

Watch Video Solution

( ) × ( )
+ 2

÷ ( )
− 2125

216

2
3 36

5

25

6

1. If  then find .

Watch Video Solution

x ( 5 +a ) 2

× x ( 5 −a ) 2

= x40 a2

https://dl.doubtnut.com/l/_Q8OLUbBh0ziE
https://dl.doubtnut.com/l/_7NJZ1In9Dkws
https://dl.doubtnut.com/l/_Qfpv6gEmzNdq
https://dl.doubtnut.com/l/_Hdqv4vkuoyU2


2. Simplify  when .

View Text Solution

[ ]
c

[ ]
a

[ ]
b1

2ab

1

2bc

1

2ac
a2 + b2 + c2 = 2abc

3. If  ,then find  and .

Watch Video Solution

3x = 900 3x+ 2 3x− 2

4. If , then find .

Watch Video Solution

1800 = 2a × 3b × 5c a + b + c

5. By what number should we multiply  so that the product is equal to 

?

Watch Video Solution

34

1

27

https://dl.doubtnut.com/l/_tP9gIGzUeNlp
https://dl.doubtnut.com/l/_gyxllNs1bvmU
https://dl.doubtnut.com/l/_cPKAth6C25iQ
https://dl.doubtnut.com/l/_Fut9h0VS8TRy


6. By what number should  be a divided to that the quotient is

equal to  ?

Watch Video Solution

(8/27) − 3

(27/8) − 3

7. Prove that 

Watch Video Solution

+ =
(x− 1 + y− 1)

x− 1

(x− 1 + y− 1)

y− 1

(x + y)
2

xy

8. Which is greater between  and  ?

Watch Video Solution

348 272

9. Find the value of 

Watch Video Solution

+
k

1 − xa− b

k

1 − xb−a

https://dl.doubtnut.com/l/_565LB2jD0X9p
https://dl.doubtnut.com/l/_rnOxtIAj2pFq
https://dl.doubtnut.com/l/_JeL1CjhAWz5f
https://dl.doubtnut.com/l/_3t0YkaJb5htL


10. Find the least integer value which satisfies .

Watch Video Solution

x4 > 1000

11. If  where , then find xy.

Watch Video Solution

xy × y = 1215 x, y ∈ 1 and y ≠ 1

12. If  where x and y are positve integers and  , then

show that either .

Watch Video Solution

8x
y

= 4096 x ≠ 1

x = y or x > y

13. If , then find the greatest possible integer value of y.

Watch Video Solution

432 > 2y3

https://dl.doubtnut.com/l/_9y84kqIGW1E7
https://dl.doubtnut.com/l/_pCDqUvcV6nkY
https://dl.doubtnut.com/l/_9DnEp1AJerMd
https://dl.doubtnut.com/l/_bCGuFpNSAqA7


Concept Application Level 1

14. If , then show that .

Watch Video Solution

3x = 9y = 27z = 729 x + y + z = 11

15. Which is the least among , and  ?

Watch Video Solution

(3)25, (9)12, (27)3 (81)2

1.  ____

A. 64

B. 32

C. 256

D. 512

232

=

https://dl.doubtnut.com/l/_Nk5nqGXMV6Sd
https://dl.doubtnut.com/l/_F0mwrRkh1QpQ
https://dl.doubtnut.com/l/_HsrQAyzotPiM


Answer: D

Watch Video Solution

2. _____

A. 0

B. 1

C. 3

D. 9

Answer: C

Watch Video Solution

3205

=

3.  _____

Watch Video Solution

200000000 =

https://dl.doubtnut.com/l/_HsrQAyzotPiM
https://dl.doubtnut.com/l/_vlGmI0madIpl
https://dl.doubtnut.com/l/_pT971TEMk4IZ


4. In , base is ____

A. 2

B. 2x

C. x

D. 5

Answer: C

Watch Video Solution

2x5

5.  _____

A. 

B. 

C. 

D. None of these

(23)
4

=

(243

)

(234

)

(24)
3

https://dl.doubtnut.com/l/_zGrw6b6tWMT5
https://dl.doubtnut.com/l/_tuI3ZAUgnKyo


Answer: C

Watch Video Solution

6. Find the value of 

A. 86

B. 66

C. 68

D. 88

Answer: B

Watch Video Solution

34[( )
2

+ ( ) − ( )
3

]
2

3

2

3

2

3

7. Value of  is _____

A. 

( )
1024
243

3
5

128

27

https://dl.doubtnut.com/l/_tuI3ZAUgnKyo
https://dl.doubtnut.com/l/_APIX3NhfmOG9
https://dl.doubtnut.com/l/_qV1nNsln9oDf


B. 

C. 

D. 

Answer: C

Watch Video Solution

32

27

64
27

32

9

8. Find the value of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(24 + 23)
2 / 6

8(2)1 / 2

2(3)1 / 3

64(2)1 / 2

4(3)1 / 3

https://dl.doubtnut.com/l/_qV1nNsln9oDf
https://dl.doubtnut.com/l/_fRYgpyTtuMCl
https://dl.doubtnut.com/l/_eaf1iwkbisUI


9.  _____

A. 4000

B. 8000

C. 3125

D. 1024

Answer: B

Watch Video Solution

(252 − 152) =
3
2

10.  _____

A. 64

B. 16

C. 32

D. 4

(332 − 312) =
5
7

https://dl.doubtnut.com/l/_eaf1iwkbisUI
https://dl.doubtnut.com/l/_BLQGsvCEW9p0


Answer: C

Watch Video Solution

11. If  then find the value of .

A. 1

B. a

C. b

D. c

Answer: A

Watch Video Solution

abc = 0 [(xa)b]
c

12. If , then find the value of .

A. 0

a + b + c = 0 √xa. xb. xc

https://dl.doubtnut.com/l/_BLQGsvCEW9p0
https://dl.doubtnut.com/l/_VqzVOfX3xtKi
https://dl.doubtnut.com/l/_aY9cvrqp7M7a


B. 1

C. 

D. None of these

Answer: B

Watch Video Solution

−1

13. Simplify .

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

√36 + √64

23 − 1

https://dl.doubtnut.com/l/_aY9cvrqp7M7a
https://dl.doubtnut.com/l/_5hMvtiZy0Ubw
https://dl.doubtnut.com/l/_XoSLO38vAC4Q


14. If  ,then find the value of .

A. 25

B. 26

C. 24

D. 0

Answer: B

Watch Video Solution

a = 25 a250

+ a025

15. Find the value of

.

A. 1

B. 101

C. 100

D. 0

( − 1)301 + ( − 1)302 + ( − 1)303 + ....... + ( − 1)400

https://dl.doubtnut.com/l/_XoSLO38vAC4Q
https://dl.doubtnut.com/l/_HOVqbOdM9uRm


Answer: D

Watch Video Solution

16. If , then  is ____

A. 81

B. 243

C. 729

D. 27

Answer: B

Watch Video Solution

3x = 6561 3x− 3

17. The following steps are involved in finding the value  , when 

. Arrange in sequential order. 


(A)  


(7 + x)3

(7x)3 = 343

(7 + x)3 = (7 + 1)3 = 83 = 512

https://dl.doubtnut.com/l/_HOVqbOdM9uRm
https://dl.doubtnut.com/l/_HDyDkG5vhmvu
https://dl.doubtnut.com/l/_8os6VZygSECM


(B)  


(C)  


(D) 

A. ABCD

B. DBCA

C. ACBD

D. BDCA

Answer: B

Watch Video Solution

x3 = = = 1
343

73

73

73

⇒ x = 1

(7x)
3

= = = 1
343

73

73

73

18. The following steps are involved in finding the value of

. Arrange them in sequential order. 


(A)  


(B)  


(C) 

( )( )( )
xa

xb

xb

xc

xc

xa

x0 = 1

xa− b+ b− c+ c−a

( )( )( ) = xa− b. xb− c. xc−axa

xb

xb

xc

xc

xa

https://dl.doubtnut.com/l/_8os6VZygSECM
https://dl.doubtnut.com/l/_vWJhvhjKNiyc


A. CBA

B. ACB

C. BCA

D. CAB

Answer: A

Watch Video Solution

19. The following steps are involved in finding the value of  , when 

. Arrange them in seqential order. 


(A)  

(B)  


(C)

A. ABC

B. BAC

C. CBA

3n− 3

3n = 729

3n− 3 = 36 − 3 = 33 = 27

⇒ n = 6

3n = 729 ⇒ 3n = 36

https://dl.doubtnut.com/l/_vWJhvhjKNiyc
https://dl.doubtnut.com/l/_gY9iHaoBIrYp


D. CAB

Answer: C

Watch Video Solution

20. The following steps are involved in finding the value of

. Arrange them in sequantial order. 


(A)  


(B)  


(C)  


(D) 

A. ADCB

B. ACBD

C. ACDB

D. ADBC

Answer: C

(ax+y)
x−y

(ay+z)
y−z

(az +x)
z −x

a ( x+y ) ( x−y ) .ay+ z ( y−z ) .a(z+ x ) (z− x )

a0 = 1

ax
2 −y2

. ay
2 −z2

. az
2 −x2

ax
2 −y2 +y2 −z2 +z2 −x2

https://dl.doubtnut.com/l/_gY9iHaoBIrYp
https://dl.doubtnut.com/l/_DBsKaRF7E9b5


Watch Video Solution

21. 

Watch Video Solution

Column A Column B

21. ( ) (a) 1

22. 618 (b) 0

23. If 2x = 16. then x (c) (610)
8

24. 5∘ − 6∘ (d) 220

(e) 4

(f) 218 × 318

210

2 − 10

22. 

Watch Video Solution

Column A Column B

25. 55 (a) 612

26. 66 × 66 (b) 1

27. If x3 = 73. then x (c) 55

28. 2123

(d) 7

(e)

(f) 2

1

55

https://dl.doubtnut.com/l/_DBsKaRF7E9b5
https://dl.doubtnut.com/l/_onBK8oZLHLnq
https://dl.doubtnut.com/l/_BDZdJSdAE2Xt


Level 2

1. Simplify .

A. 2

B. 2abc

C. 2bc

D. 

Answer: D

View Text Solution

4a− 1b− 2bc × 6a3b2c ÷ 12a2b4b

2b− 1

2. if  then find .

A. 

B. 

C. 

3−x = 3000 103 × 32x+ 3

3 × 10− 3

27 × 10− 3

9 × 10− 3

https://dl.doubtnut.com/l/_GzeaeM99hp8l
https://dl.doubtnut.com/l/_uMbkec38qaFs


D. 

Answer: A

Watch Video Solution

3000

3. Find the value of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+
( − )

2
2
3

( − )
3

2
3

( − )4
9

( )
2

2
3

−
1

2

3

2

−
5

2

1

2

https://dl.doubtnut.com/l/_uMbkec38qaFs
https://dl.doubtnut.com/l/_K2JY9IvlhHQE


4. If then a =___

A. 15

B. 30

C. 24

D. 20

Answer: A

Watch Video Solution

(4)a+ 5(16)2a(32)4 = (16)3a

5. If  , then  is _____

A. 128

B. 64

C. 256

D. 32

2n = 4096 2n− 5

https://dl.doubtnut.com/l/_z3amfkwVYpuK
https://dl.doubtnut.com/l/_3MhHEZlPFyE1


Answer: A

Watch Video Solution

6. If , then the value of y is ______

A. 5

B. 8

C. 6

D. 3

Answer: D

Watch Video Solution

23y−x = 16 and 22y+x = 2048

7. If  , then find the sum of x and y where x and y are positive

integers .

xy × yx = 72

(x ≠ 1 and y ≠ 1)

https://dl.doubtnut.com/l/_3MhHEZlPFyE1
https://dl.doubtnut.com/l/_IXEsoOywRslj
https://dl.doubtnut.com/l/_C5ugJ1PyEMjo


A. 12

B. 10

C. 5

D. 7

Answer: C

Watch Video Solution

8. 

A. 1

B. 0

C. 

D. 

Answer: A

Watch Video Solution

( )
z

× ( )
x

× ( )
y

=_ _a≠ 0 and a≠ 1
ax

ay
ay

az
az

ax

axyz

axy+yz +zx

https://dl.doubtnut.com/l/_C5ugJ1PyEMjo
https://dl.doubtnut.com/l/_SPr9JCuCllfU


9. Which is the greatest among ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(5)23, (25)11, (625)6, and (3125)5

523

(25)11

(625)6

(3125)5

10. _____

A. 

B. 

C. 

(0.01024) =
1
5

√0.4

0.2

0.4

https://dl.doubtnut.com/l/_SPr9JCuCllfU
https://dl.doubtnut.com/l/_gWTrw7b49SZP
https://dl.doubtnut.com/l/_rUtWIPtP2m4O


D. 

Answer: C

Watch Video Solution

3√0.4

11. ________.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( )
x+y+z

÷
⎡

⎣
(√ )

−x

× ( )

−y

× (√ )
−z⎤

⎦
=

a

b

a

b

√a

b

a

b

[a3 /b3]
x+y+z

[a2 /b2]
x+y+z

[a/b]
x+y+z

/2

[a/b]
3
(x + y + z) /2

12. If , then find the value of x.= 2181

(512)
2x+ 2

https://dl.doubtnut.com/l/_rUtWIPtP2m4O
https://dl.doubtnut.com/l/_L6uomNw08p4m
https://dl.doubtnut.com/l/_BQX80fLJGMw0


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−2

−3

−4

−5

13. If  then find the value of x.

A. 25

B. 5

C. 10

D. 

Answer: B

Watch Video Solution

(2x)5 = 100000

2.5

https://dl.doubtnut.com/l/_BQX80fLJGMw0
https://dl.doubtnut.com/l/_Zc1V4YLzkCbw


14. If , then find .

A. 33

B. 22

C. 11

D. 44

Answer: A

Watch Video Solution

(x + y)3 = 1331 and (x − y)5 = 243 x2 − y2

15. If , then x= _____

A. 9

B. 6

C. 4

32x− 16 = 43x− 24

https://dl.doubtnut.com/l/_Zc1V4YLzkCbw
https://dl.doubtnut.com/l/_LmJAopRU23s7
https://dl.doubtnut.com/l/_gmByGtUteJWU


D. 8

Answer: D

Watch Video Solution

16. If  , then find the value of .

A. 3

B. 2

C. 1

D. 0

Answer: A

Watch Video Solution

xyz = 0 (ax)zy + (ay)zx + (az)xy

https://dl.doubtnut.com/l/_gmByGtUteJWU
https://dl.doubtnut.com/l/_lSzcksmksyMi


17. Varun secured x marks in Maths and Rahul secured  marks in Maths.

The product of their marks was 729. Find their marks.

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

x2

3, 243

9, 81

27, 27

18. What should be multiplied to  so that the products is 1 ?

A. 16

B. 32

C. 64

D. 128

26

https://dl.doubtnut.com/l/_FlhqwTPah2Nh
https://dl.doubtnut.com/l/_dOfTJHufrKQc


Answer: C

Watch Video Solution

19. If , then find the value of 

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

27x− 5 = (32)x− 7 1

2x

217

216

215

20. If , then find the value of 

A. 120

x = √100
x3 + x2

x

https://dl.doubtnut.com/l/_dOfTJHufrKQc
https://dl.doubtnut.com/l/_23KoNWPA4iqZ
https://dl.doubtnut.com/l/_SABfj2cgvsnP


B. 100

C. 110

D. None of these

Answer: C

Watch Video Solution

21. Which among  and  is the greatest?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4− 2, 3− 2, 2− 2 5− 2

4− 2

3− 2

2− 2

5− 2

https://dl.doubtnut.com/l/_SABfj2cgvsnP
https://dl.doubtnut.com/l/_xm8LZRzLyAsZ
https://dl.doubtnut.com/l/_hCJMIgHt6pEj


Level 3

22. A teacher wanted to distribute 2025 chocolates equally among x

number of students . If each students gas x chocolates, find x.

A. 25

B. 35

C. 45

D. 55

Answer: C

Watch Video Solution

1. If , then find the value of 

A. 

B. 

√2 = 1.414 and √7 = 2.646 √32 + √252.

20.839

21.532

https://dl.doubtnut.com/l/_hCJMIgHt6pEj
https://dl.doubtnut.com/l/_4MELkU7Ome6V


C. 

D. 

Answer: B

Watch Video Solution

19.482

22.231

2. If , then the greatest possible integer value of x is ____

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

64 > x3

https://dl.doubtnut.com/l/_4MELkU7Ome6V
https://dl.doubtnut.com/l/_7GvAOnHGqwSh


3. Which of the folowing is the ascending order of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

21152, 3768, and 5384

5384, 3768, and 21152

5384, 21152, and 3768

5389, 5314, and 21152

21152, 3768, and 5384

4. If ,then which of the following relations hod true?

A. 

B. 

C. 

D. 

2a = 4b = 8c = 64

a + b + c = 8

a + b + c = 9

a + b + c = 10

a + b + c = 11

https://dl.doubtnut.com/l/_tTO35l2rZLRd
https://dl.doubtnut.com/l/_oJBIKH2PmkPc


Answer: D

Watch Video Solution

5. If ,then find the value of .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√2.5 = 1.581 √0.625

0.7905

0.9426

0.7632

0.9325

6. = _____

A. 

( ) × ( ) ÷ ( )
27
343

2
3 343

729

2
3 2401

81

3
4

1/3 × (7/3)
8

https://dl.doubtnut.com/l/_oJBIKH2PmkPc
https://dl.doubtnut.com/l/_6jChD4UHkKtw
https://dl.doubtnut.com/l/_FOCr2k0PnFnU


B. 

C. 

D. 

Answer: B

Watch Video Solution

1/9 × (7/3)7

1/9 × (7/3)6

(7/3)6

7. If  , then x =_______

A. 12

B. 10

C. 8

D. 4

Answer: D

Watch Video Solution

(9)2x+ 4 = (243)2x− 3.2

https://dl.doubtnut.com/l/_FOCr2k0PnFnU
https://dl.doubtnut.com/l/_gHl9UTtRmjRb
https://dl.doubtnut.com/l/_NYeEr6fF01po


8. If  , then  _____.

A. 175

B. 25

C. 125

D. 75

Answer: A

Watch Video Solution

22n− 3 = 2048 (4n + 3n2) =

9. If  where a and b positive integers and , then which of

the following is (are). Correct ? 

 


 


A. Either I and III

7a
b

= 2401 a ≠ 1

I, a = b

II. a > b

III. a < b

https://dl.doubtnut.com/l/_NYeEr6fF01po
https://dl.doubtnut.com/l/_ttfKOqXlPZ7G


B. Either II and III

C. Either I or III

D. I only

Answer: C

Watch Video Solution

10. IF =729 a+b+c` (where

a,b and c are positive integers).

A. 29

B. 13

C. 12

D. 10

Answer: D

Watch Video Solution

(ab)
c

, thenf ∈ dthe min iμmpossib ≤ valueof

https://dl.doubtnut.com/l/_ttfKOqXlPZ7G
https://dl.doubtnut.com/l/_DjJnGlB7Rfni


11. If , then find the sum of x and y.

A. 8

B. 7

C. 9

D. 6

Answer: B

Watch Video Solution

(2)2x− 2 − (8)y− 1 = (16)x− 2.5

12. ______

A. 5

B. 25

C. 125

D. 625

(√1795 − √1170)
3 / 4

× (√1795 + √1170)
3 / 4

=

https://dl.doubtnut.com/l/_DjJnGlB7Rfni
https://dl.doubtnut.com/l/_RS1cvYVZ3dss
https://dl.doubtnut.com/l/_RjX5Pcig4OUZ


Answer: C

Watch Video Solution

13. If , and  , then find the value of 

.

A. 0

B. 1

C. -1

D. 2

Answer: A

Watch Video Solution

a = (3− 3 − 33) b = (33 − 3− 3)

−
a

b

b

a

14. Which of the following is the descending order of

 ?(4)26, (64)9, and (256)7

https://dl.doubtnut.com/l/_RjX5Pcig4OUZ
https://dl.doubtnut.com/l/_E5O6zSOONcpB
https://dl.doubtnut.com/l/_cY8cXJ88fpMm


Watch Video Solution

15. ______

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( )
−

=
x5y− 3 × x3 − 2y

x4y− 6 × x2y− 9

4
3

x3y+ 15

x13 − 3y

x4y− 20

x4y+ 18

16. If , then what is the value of a?

(None of x,y and z is either 0 or 1.)

A. 1

B. 

(xy)a = z, (yz)a = x, and (xz)a = y

1

2

https://dl.doubtnut.com/l/_cY8cXJ88fpMm
https://dl.doubtnut.com/l/_kuiYtsiPd2LJ
https://dl.doubtnut.com/l/_RyuN0AV6owSY


C. 

D. 0

Answer: B

Watch Video Solution

3

2

17. _______

A. 1

B. -1

C. 0

D. 2

Answer: C

Watch Video Solution

+ + =
x− 1 − y− 1

z

y− 1 − z − 1

x

z − 1 − x− 1

y

https://dl.doubtnut.com/l/_RyuN0AV6owSY
https://dl.doubtnut.com/l/_QVnehBecwGlh


18. Find the value of 

A. 0

B. -1

C. 1

D. 

Answer: C

Watch Video Solution

+
1

1 + xa− b

1

1 + xb−a

xa+ b

19. If  , then find the greater integer value of x.

A. 1

B. 2

C. 3

D. 4

x5 < 1000

https://dl.doubtnut.com/l/_3i287VPbvriI
https://dl.doubtnut.com/l/_xnqdZUCtGeyG


Assessment Test Test 1

Answer: C

Watch Video Solution

20. If  where x and y are distinct natural numbers , then find 

.

A. 6

B. 8

C. 4

D. 2

Answer: A

Watch Video Solution

xy = yx

x + y

https://dl.doubtnut.com/l/_xnqdZUCtGeyG
https://dl.doubtnut.com/l/_1qPc19IspVXT


1. If , then find  


The following steps are involved in solving the above problem. Arragne

then in sequential order. 

(A)  


(B)  


(C)  


(D) 

A. ADCD

B. ABCD

C. ADBC

D. ACDB

Answer: A

Watch Video Solution

(2x2 − y2)
4

= 256 and (x2 + y2)
5

= 243 x4 − y4

(x2 − y2)
4

= 256 = 44 and (x2 + y2)
5

= 35

x4 − y4 = 12

(x2 − y2)(x2 + y2) = 4 × 3

x2 − y2 = 4 and x2 + y2 = 3

https://dl.doubtnut.com/l/_St0TE84m3gEw


2. If , then find the value of  The following steps

are involved in solving the above problem.Arrange them in sequential

order. 

(A)  


(B)  


(C)  


(D) 

A. ABCD

B. ADBC

C. CADB

D. CABD

Answer: D

Watch Video Solution

√7 = 2.646 (√2 + √14)
2

16 + 2√2 × √2 × √7

16 + 2 × 2x√7

(√2 + √14)
2

= 2 + 14 + 2√2 × √14

16 + 4 × 2.646 = 16 + 10.584 = 26.584

3. ______34x3y6z4 × 27x− 2z − 6 ÷ 81xy2z − 3 =

https://dl.doubtnut.com/l/_5xBqG0BwiFkq
https://dl.doubtnut.com/l/_pz5ZfSroYtYs


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

27xy

27yz

27xz

27xyz

4. If  ,then ____

A. 81

B. 27

C. 243

D. 729

Answer: B

Watch Video Solution

3x = 243 3 =
x+ 1

2

https://dl.doubtnut.com/l/_pz5ZfSroYtYs
https://dl.doubtnut.com/l/_On69KKg9o6Tz


5. If  and  ,then  ______

A. 

B. 

C. 

D. 2

Answer: C

Watch Video Solution

5− 5y =
1

3125
9x =

1

81
x − y =

−5

−2

−3

6. Which is the greatest among the following ? 

A. 

B. 

C. 

(√3)
30

, (√27)
4
, (√81)

8
, and (3√9)

12

(√3)
30

(√27)
4

(3√9)
6

https://dl.doubtnut.com/l/_On69KKg9o6Tz
https://dl.doubtnut.com/l/_zbwemORtzXu7
https://dl.doubtnut.com/l/_1FzjC6YdvOq7


D. 

Answer: D

Watch Video Solution

(√81)
8

7. ________

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

( ) × ( ) × ( ) =
ax

4

ay
4

1

x2 + y2
ay

4

az
4

1

y2 + z2
az4

ax
4

1

z2 + z2

8. ________(6√ )
− 2

=
64
125

https://dl.doubtnut.com/l/_1FzjC6YdvOq7
https://dl.doubtnut.com/l/_ctlvCAJ4GHhE
https://dl.doubtnut.com/l/_xtGgB9G1lAzs


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5

16

4
5

5

4

16

5

9. If ,then find  where x and y are positive integers

and ).

A. 15

B. 12

C. 14

D. 16

Answer: B

xy × yx = 256 y2 − x2

x < y

https://dl.doubtnut.com/l/_xtGgB9G1lAzs
https://dl.doubtnut.com/l/_kXOiwmT2sZen


Watch Video Solution

10. ___________

A. 100

B. 1000

C. 10

D. 10000

Answer: A

Watch Video Solution

(√1024 − √24)
2 / 3

(√1024 + √24)
2 / 3

=

11. Find the value of 

A. 84

B. 

C. 72

(84 + 82)
1
2

8√77

https://dl.doubtnut.com/l/_kXOiwmT2sZen
https://dl.doubtnut.com/l/_K7jS7AVxkcvi
https://dl.doubtnut.com/l/_mGmdYY83B2TD


Assessment Test Test 2

Test 2

D. 

Answer: D

Watch Video Solution

8√65

1. 

x^2-Y^2,,,(d),1),(,,,(e),100^2),(,,,(f),16):}`

Watch Video Solution

(Column A, , , , Column B), (12. 10023010

, , , (a), 0), (13. (120 − 110)(31 −

1. if , then find . 


The following steps are involved in solving the above problem. Arrange

(x − y)3 = 216 and (x − y)5 = 32 x3 − y3

https://dl.doubtnut.com/l/_mGmdYY83B2TD
https://dl.doubtnut.com/l/_wTwuXqqZcf1n
https://dl.doubtnut.com/l/_Tbo3n1uM4xvd


them in sequential order. 

(A) Therefore, . 


(B) Solving . 


(C)  


(D) 

.

A. DABC

B. DBAC

C. DCBA

D. BDCA

Answer: A

Watch Video Solution

x − y = 6 and x + y = 2

x − y = 6 and x + y = 2 ⇒ x = 4, y = − 2

x3 − y3 = 64 − ( − 2)3 = 64 + 8 = 72

(x − y)3 = 216 ⇒ (x − y)3 = 63 ⇒ x − y = 6 and (x + y)5 = 32 ⇒ (x +

2. If , find the value of 

. 


√2 = 1.414 and √7 = 2.646

(√2 + 1)
2

+ (√7 + 1)
2

https://dl.doubtnut.com/l/_Tbo3n1uM4xvd
https://dl.doubtnut.com/l/_7FWMWnoRKPt0


The following stpes are involved in solving the above problem. Arrrange

them in sequenatial order. 

(A)  

(B)  


(C)  


(D) .

A. ABCD

B. DACB

C. DBCA

D. DCBA

Answer: D

Watch Video Solution

19.120

11 + 2 × 4.060 = 11 + 8 − 120

11 + 2(√2 + √7) = 11 + 2(1.414 + 2.646)

(√2 + √1)
2

+ (√7 + 1)
2

= 2 + 1 + 2√2 + 7 + 1 + 2√7

3. _______

A. 

23x+ 2y+ 3z5 × 52x− 5y− 5 ÷ 100x− 4y− 3z − 1 =

2xyz2

https://dl.doubtnut.com/l/_7FWMWnoRKPt0
https://dl.doubtnut.com/l/_9EeDL4aqO7qa


B. 

C. 

D. 

Answer: C

Watch Video Solution

2xy2z

2xyz

2x2yz

4. If , then _______

A. 64

B. 128

C. 256

D. 512

Answer: B

Watch Video Solution

2n) = 1024 2 + 2 =n

2

https://dl.doubtnut.com/l/_9EeDL4aqO7qa
https://dl.doubtnut.com/l/_0wogvuMuqjTv
https://dl.doubtnut.com/l/_DhkHoLLFJ3vI


5. If , then _____

A. 0

B. -2

C. 1

D. 2

Answer: B

Watch Video Solution

22y = and 34x =
1

4

1

81
x + y =

6. Which is the greatest among , and  ?

A. 

B. 

C.  s

D. 

(9)6, (27)5, (81)4 (243)2

(9)6

(27)5

(81)4

(243)2

https://dl.doubtnut.com/l/_DhkHoLLFJ3vI
https://dl.doubtnut.com/l/_tvXYLuYoY9ng


Answer: C

Watch Video Solution

7. _______

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

( ) × ( ) × ( ) =
ax

2

ay
2

1
x+ y

ay
2

az
2

1
y+ z

aZ
2

ax
2

1
z+ x

8. _____

A. 

(5√ )
− 1

=
3125

243

−
3

5

https://dl.doubtnut.com/l/_tvXYLuYoY9ng
https://dl.doubtnut.com/l/_NYXiHEHfIhL4
https://dl.doubtnut.com/l/_aaAWazDad10A


B. 

C. 

D. 

Answer: B

Watch Video Solution

3

5

5

3

−5

3

9. If , then find  (where x and y are positive integers

and ).

A. 2

B. 5

C. 4

D. 3

Answer: D

Watch Video Solution

xy × yx = 800 x − y

x > y

https://dl.doubtnut.com/l/_aaAWazDad10A
https://dl.doubtnut.com/l/_vx7u7wLGq5co


10. _______

A. 1

B. 2

C. 3

D. 6

Answer: A

Watch Video Solution

(√2013 − √2012) (√2013 − √2012) =
3
5

3
5

11. Find the value of .

A. 27

B. 

C. 

D. 729

(34 + 35)
3 / 4

27(2)3 / 2

23 / 2

https://dl.doubtnut.com/l/_vx7u7wLGq5co
https://dl.doubtnut.com/l/_VvLklGDjh7mw
https://dl.doubtnut.com/l/_C3zciU3aarbX


Answer: B

Watch Video Solution

12. 

Watch Video Solution

Column A Column B

27. 2234019

(a) 2

28. (80 − 100)(21 − 22) (b) 16

29. (512)4 / 9 (c) 256

30. If 3x− 1 = 36 −y = 27(, )then x2 + y2 (d) 1

(e) 25

(f) 1024

https://dl.doubtnut.com/l/_C3zciU3aarbX
https://dl.doubtnut.com/l/_qxeRk4Z3JG8u

